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Choose the letter of the graph that best matches each equation,

. y=4cos C 7. y=2sin0 D B. y=124in 26 P>
9 p=025ces0-1 [ 10. y = 2 cos (0 — 45°9) [ M, y=sin20+1

Sketch a graph of the following. State the amplitude, period, vertical shift and phase shift. L . i ) J
14, y = —cos 6 + 3 15. y = sin (6 + 60°) ° 1¥® 300
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22, y = 3 sin 40 :\2 . ; ap IO z}ij&ﬂb 23. y = cos 2(0 ~ 75”’} +
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Choose the letter of the graph that best matches each equation,
2. y = 0.5 cos (8 — 90°) — ZA' 27. y = 28in 0.5(8 ~ 80") - 2€ 28, y=—cos 2(6 + 4’3") =1 6




